26

40 Sl #—25
31}‘-«_— 30 ) 2, B\ oy
32 N3

V

E 3109-0408



E 3109-0408

Position
Ref.No.
Repére
Posizione
Posicion

Menge
Quantity
Quantité
Quantita
Cantidad

Teile-Nr.
Part-No.
No. Référence
Nr. d'Ordine
No. Referenzia

Hinweis
Hints
Indications
Indicazione
Indicaciones

Position

Ref. No.

Repére
Posizione
Posicion

Menge
Quantity
Quantité
Quantita
Cantidad

Teile-Nr.
Part-No.
No. Référence
Nr. d'Ordine
No. Referenzia

Hinweis
Hints
Indications
Indicazione
Indicaciones

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

30

20026501

20020404

20020431

10016917

10016925

10016918

10015504

20029021

25038008

40080143

40080143

20007029

10017094

20007054

10016738

20007054

10016739

20007024

40080142

10016503

10015504

20029021

25038007

25025168

25031004

10022624

20029001

25031004

10016507

25048002

SKB 8

DIN933-M8x25

SKB 8

DIN933-M8x20

DIN934-M10

VSK 10

DIN934-M10

DIN125-A8,4

31

32

33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

48

49

50

51

52

53

54

55

56

25038006

20029003

25031003

10016508

25048002

25038007

20029003

25031003

25038007

25031013

40080660

40080661

25038069

20029020

25048002

25048001

25031012

20016137

20007066

25048002

25038006

20007066

20029021

25038009

25048002

25044007

DIN933-M8x16
VSK 8

DIN934-M8

DIN125-A8,4
DIN933-M8x20
VSK 8
DIN934-M8
DIN933-M8x20

DIN985-M8

DIN933-M6x25
SKB 6
DIN125-A8,4
DIN125-A6,4
DIN985-M6

0,35 m

DIN125-A8,4

DIN933-M8x16

SKB 8
DIN933-M8x30
DIN125-A8,4

DIN912-M8x30

12.12




